EC3023 History of Economic Thought

Sample examination paper, May-June 2009

Answer any THREE of the following SEVEN questions.

There are no ‘right answers’ – what is required is for students to show evidence of engagement with the literature and the ideas discussed in the module, and the ability to put together a cogent argument.  Outlines below can only highlight some of the elements some students may wish to develop.  

1. “The whole is just the sum of the parts.”  Does this phrase encapsulate a solid basis for the construction of an effective social ontology?  

Students should be able to distinguish between reductionism: whole =  parts considered in isolation, and holism, which sees wholes as rooted in the inter-relationships between parts.  They should be able to identify the former with Friedman, Lucas and Malthus from the Second Essay on.  Good essays may mention the ‘classical school’ (in Keynes's terms) from Ricardo to Pigou.  They should be able to identify the latter (holism) with both market-sceptical writers such as Marx and Keynes, and with sophisticated pro-market writers such as Hayek and Smith.  Problems with reductionism include its implausibility: chairs are not made of hard, green and uncomfortable atoms.  “Effective social ontology” begs the question of ‘effective’ for what?  If it is to underpin a policy prescription, the more serious charge is that by ignoring the significance of inter-relationships between agents, they assume away externalities and prisoners’ dilemmas (which are the same thing).  The PD shows that individual utility maximisation cannot be assumed to lead to social welfare maximisation.  The collective outcome may be suboptimal.  Students may wish then to go on to discuss the consequences of abandoning reductionism as an underpinning for laissez-faire policy prescriptions.   There is then a need for a ‘black box’ mechanism, such as a deistic invisible hand or a socially-benign evolutionary process, mediating between a holistic ontology and a reductionistic policy prescription of laissez-faire.  

2. “The prisoners’ dilemma gains its bite by encapsulating the partially overlapping and partially conflicting interests which characterise the human condition.”  Critically appraise this claim.  

Students should set out the theory of the PD, showing the clash between Nash equilibrium and Pareto efficiency, in one-shot, 2-player games, iterated games, and n-player games.  They should demonstrate understanding that players interests are held in common on the main diagonal, ie we all want a bigger cake, and conflict off it, where we each want a larger slice at the others’ expense.  This seems to correspond to the two themes of Smith’s Wealth of Nations: self-love as the motive force of industry, and the increasing returns to cooperative labour evinced in the pin factory.  Smith’s optimism that the two factors would be spontaneously harmonised to generate desirable consequences seems unwarranted if in fact there are significant PDs.  

3. On three occasions Adam Smith invoked the image of an “invisible hand”.  Much controversy has been stimulated by these references.  How do you interpret them?  

The majority view, at least amongst economists, is that the invisible hand is a metaphor for market forces.  Some even falsify Smith’s words to present it as simile, as in Begg Economics.  The interpretation examined in the module is that the reference is intended to be taken literally as the activity of a benign, omniscient and omnipotent deity.  The passage in Astronomy criticises primitive, polytheistic religions for seeing the hand of god active only in the irregular phenomena of nature – thunder and lightning, etc – but not in the normal phenomena such as water quenching thirst or fire burning.  The passage in the Moral Sentiments says that the use the rich make of their wealth is as egalitarian in its effects as if providence had divided up resources among all equally, the wealthy and powerful are led by an invisible hand to distribute the means of consumption in a socially desirable way.  The passage in the WN says that the invisible hand guides capitalists (a) to maximise national income, and (b) to prefer domestic to foreign industry (a supremely mercantilist goal!).  

It is mistaken to perceive a disjuncture between MS and WN; ‘das Adam-Smith-Problem’ is refuted by the fact that Smith worked alternately on new editions of each throughout his life from 1776.  MS presents the ideas he wished to be remembered for, and he adds a new section beefing up the providentialism in the last year of his life.  MS argues that the universe is a great machine tended by a deity and designed to generate the maximum possible quantity of happiness in each time period.  Nature, and especially human nature, is designed by a “wise providence” to fit man to a social existence.  Even man’s faults show the wisdom of the author of nature, and are placed within us for good reason.  People are designed to interact so as to maximise social welfare – guided by self-love, sympathy, fear, and the deception of nature to do what is required for the social good, whatever the consequences to the individual (who is dismissed as a ‘vile insect’).  The simple system of natural liberty is to be preferred to government intervention as the former gives scope for the operation of the invisible hand and infinite mind of the deity, while the latter is the operation of the finite mind and fallible reason of mere mortals.  

4. For Hayek, ‘the individuals in a social structure are merely the foci in the network of relationships which form the elements of the structure’ (The Counter-Revolution of Science p 59).  For Friedman, economics is based on the study of ‘a number of independent households ( a collection of Robinson Crusoes’ (Capitalism and Freedom p 13).  Does this difference between Hayek and more mainstream views on the status of the individual have any significance for his policy prescription?  

Student needs to address the issue of what FAH’s policy prescription was – conservative, radical, laissez-faire or what?  Is there a link between reductionism and laissez-faire policy prescription?  Lucas and voluntary unemployment.  Haworth’s views on this link.  My views on different paths to laissez-faire policy prescription from reductionist and holistic starting points.  Policy reductionism + holistic epistemology implies need for invisible hand mechanism.  Role of Hayek’s evolutionary theory.   Could take up some of the issues from section 5 (Hayek’s anti-individualism) in my longer Hayek paper.  In thesis section 5.3, ‘Holism and reductionism in Hayek’.  Hayek and methodological individualism versus methodological holism.  Holism and collectivism.  Holism and the assertion that the whole is more than the sum of its parts, but includes the way in which they are related.  Hayek’s view that the individual is just a focus in the system of social relationships, versus Friedman & Lucas’s Robinson Crusoe agents. Combination of meth. Holism + policy individualism.  Evolutionary theory as the black box reconciling mechanism.  

5. “Moral restraint” not only makes no appearance in the Essay on Population of 1798, but the behaviour it prescribes is actually described as “vicious”.  What was the significance of the emergence of “moral restraint” in the second edition of Malthus’s Essay in 1803?  

Malthus has the same end in view in both the First and Second Essays – the defence of the status quo, and the preservation of institutions – private property, inequality, the state and marriage – against the literary attacks of the English Jacobins.  He does this by presenting poverty – ‘misery’ – as an eternal and natural condition.  This paints  a grim view of life which he then attempts to sell to his readers by an unorthodox theodicy occupying nearly a tenth of the First Essay.  This hardship is part of the divine process of converting inanimate matter into souls of the calibre requisite to dwell forever with their creator.  In doing so he ‘removes the blame [for misery] from institutions’ and passes it to the deity.  This is not popular with the church and within a few weeks (evidenced by the letter to Godwin) he realises that he can pass the blame instead to individuals, by means of the concept of ‘moral restraint’.  The Second Essay is entirely organised around this new concept, and the heterodox theodicy is quietly jettisoned.  Moral restraint means marrying later and with lower probability.  We are exhorted not to marry until we can support the likely issue of the union.  In the First Essay delaying marriage was regarded as a vice.  Malthus now launches a theory of voluntary poverty akin to Lucas’s theory of voluntary unemployment.  The poor are poor through no other reason than their own choices.  The First Essay stands firmly in the holist tradition of Smithian providentialism, the Second equally firmly in the reductionist tradition of Lucas and Friedman.  ‘Moral restraint’ is critical to Malthus's move from the one to the other.  

6. Did Keynes reject laissez-faire?  

No ‘right answer’.  One approach would be that adopted in my paper on this discussed in the lectures.  The answer given there is that the answer is (a) at the micro-level: no; and (b) at the macro-level: yes.  The problem with laissez-faire capitalism was that it artificially divided agents from each other creating what we would no recognise to be a multi-player prisoners’ dilemma.  Each agent holds cash to insure against economic downturn, but by doing so provokes the downturn that he was afraid of in the first place.  All would be better of by not hoarding idle balances, but it is Nash to do so.  Keynes advocates a planning environment for micro economic decision making where major public and private sector enterprises are linked together and to the central bank by a planning board.  The planning board would discover the national MEC function and the national savings bank would know the national savings function.  The planning board would put these together to find the rate of interest consistent with a level of investment which would just absorb all desired savings at the full-employment level of national income.  This rate of interest would be supplied by actions of the central bank.  Uncertainty would be eliminated and hence the desire to hoard idle balances.  The economy would be set firmly on the full-employment path to the economic paradise when MEC and the rate of interest should fall to zero and capital would be a free good.  The social class who would lead this was the educated bourgeoisie, the entrepreneurs in business and public administration, the arts and academia, the stratum between the proletariat who ‘sold themselves for the means of life’, the ‘mud’ rather than the fish, the common man, on the one hand and the ‘functionless investors’, the owners of the means of production, the rentiers who ‘exploit the scarcity value of capital’, on the other.  

7. While Hayek insisted on the existence and benefits of a “spontaneous order” beyond the comprehension of individual minds, Keynes was equally insistent that there was “no design but our own”.  Appraise Marx’s standpoint on the emergence and desirability of macro-level design.  

Hayek, Keynes and Marx alike adopt a holistic stance, but Keynes and Marx deny any benign invisible hand: individual self-seeking behaviour in a world of significant externalities issues in significant sub-optimalities, justifying extensive state intervention in the economy.   For Keynes ‘there is no design but our own ... the invisible hand is merely our own bleeding feet moving through pain and loss to an uncertain ... destination’, but for Marx there is indeed a design which is not our own, a design without a designer.  Like Hayek, Marx believes this design to be emergent at the macro level, but for Marx, unlike Hayek, because it is not our own design, it is alien to us.  In the absence of directly social activity, atomistic behaviour spontaneously arranges itself into self-augmenting parasitic networks of social relationships – states and capitals.  Societies of individual humans thus become dominated by interests alien to those of the individuals comprising them.  Capital, he says in the Grundrisse, is an ‘animated monster’ – “Capital … is the existence of social labour … but this existence as itself existing independently opposite its real moments”.  Marx thus contradicts Keynes's statement that ‘there is no design but our own’: capital (conceived as a network of social relations, not as the physical means of production) has become hypostatised and become a subject.  The existence of the substrate humans is reduced from the end of society to the means to its own end.  
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